[
www.arifrao.com (ﬁ)
. --"'f

— DOBJECTIVE KEY FOR BOARD OF INTERMEDIATE AND SECONDARY EDUCATION,MULTAN.
INTERMEDIATE ../L.. ANNUAL EXAMINATION,2022.

Name of Subjfe_ct: MAE&H aﬂC‘/ﬂ Group: 2nd
Q. | Paper code ek PaperCode | Correct |Paper Code Correct  |Paper Code i
Nos | 192 Anwser || qu Anwser (-” f}é Anwser 4y qg Anwser
1 . Je D ~CAry | D O D 6
2 | A =0 A [Y=lens| fﬁ—;ﬁ B | y=Y4
3 B —/ B 2= A L= g C (1,—1 )
+ | B |pechested D | g |D |-G | D | _p
5 [ D o C |Rrab=o| A '|Y= rfdﬂ:{ A =1
8 C %ﬁl B 6o B 2 - S Je.
7 | A gE 2" | 8 (o)1) D \_% A k=&
8 | D |-GA | € | (3) | ¢ |Arab=o —/
s |A |g=Comx | D é 3 6o’ Dechisies
ic | B = B g=4 | A (01 o
w | p | .0F c (-] ¢ ée) c lomL
2 | € |R*ab=o| D = P A | brat
e | B 6> |#H | 2. | B =t | D ~ Ced2x
14 Va3 (G‘_J.I') i JE- I__:-—f_) A 'a':{"@h}{
5 | C (2,1) | A R0 ~I¢ B o
© | D § B < 4 2 2 %
w | 8 Yy=4 | B D C |ule ¢ |Riabze
18 - (J‘)-FJ D A k=0 B_ bo°
€ | D ~K C Y= b — | A (651)
n | A S bra* | B |pechrafer| C  |(3,D)
evﬁr}LI,.?{_Jrrf.:qL._*.ﬂﬁ_?f \
K202, el ot ) 2 Mk
e U Set labus :{,::;.u;_.;u"ﬁ'; (Subjective&Okjective) B Sz, Jiv
Z4 U p - o, 'J-.-I#Uersmn,a-f:_ L-/ru..-.?u Varemnl_,;:;‘u -J;Jils’,.-,, Al ‘-f — #u:ufﬁuﬁa -

¢ '.1- . g4 b WO
bl 0l S e fle = zKey .»_,.—"L L7 w2 L,‘l‘bu!urr 3 |_§°: S -8 un. - J.-ﬂ_fu;a Key(MCGSJJ"ﬁ‘u
o e E . S T # " i i
U U I3 Rubrlnsi,fu.ﬁxl- fells A d’f é_‘ I e R SkKBY L,‘:u o L;J'z:l e LY g Bl L e

Prepared & Checked By: Dated:

# Name Designation Institution Mabile No | Signature

s
\ [Na3A AA A Aihi:.?.fp G’““{‘G"’“duazqamu 036069217152 ]ﬁ =)
2 g?aﬁ t@a{wﬁ Al Prfesse |G -Coraduels M?,v_m o !?ﬂ

3 | p il Pocee o/ P p32/-B3/8 é@——z
’ Khmmﬁéﬁ@

0326343032 "M

Re-Checked By _.rl'_..:ﬁw@fdlr'jd{s}LULE;J:U{:.-_JLr‘":f.@L'.EJJF"KEy"Lﬁfr_(t}:ﬁf’;;i‘r‘-":)."-r{__-,“fﬂ[.@ﬂi.f
1 Hqgﬁﬂ} V27, .tl_w'sj‘:;;gq_ Lol Evavton s lbte wold 035 )33 /574 M |

2

: |




o www.arifrao.com @-;j

2 DIEEECTWE KEY FOR BOARD OF INTERMEDIATE AND SECONDARY EDUCATION,MULTARN.

L

INTERMEDIATE ..Z... ANNUAL EXAMINATION.202.)

Name of Subject:_MﬂM LATr th/_'ﬁ : ; Group: 1st g
Q. |PaperCode| correct PaperCode | Correct |PaperCode| corract | Paper Code Chrai
Nos ‘-faqf Anwser Lﬂ 9 2 Anwser L)' [ q.{; Anwser L/,’ Q ? Anwser
L L 1D [ s T3 e Tt
: | D [EREe g s A | F e e
3 | B |wne? A XY D | wndsbord A | Bofels)
s+ | D 2z A O | A £ A g
5 B[ 2% A E'-.,f‘* e 2%+970 | | e tany
¢ | € 7= MEARNE Jg 20 [ER
r | B {&id3 |p SO0 B z R
8 A ﬁﬂ(E‘x—l:l A g ;tﬁ-, A Xk;fa'g;-:ﬂ.l D i&ﬂﬂlﬁtflﬂd
] A O D 2 ~ g__ J':iq |
0 | ¢ |'any A ?"?_”'1' R e 2n+Y 70 |
11 [ D -3 C = | 3 J7
clA |2 8 Hwi¥[p [spwh X
w] D n dedirad | /) .i?m(e?.z.) B M % A Wy +d =2
w | B = A o D o A o_
51 |2xgve | € |etany ny. | p o2
s | D T D o T el
0 O T 1T [ [metmgon
B | A |oyrgd=a| A on(ér) | B war |
9 | A = B _}4 o b 8
20 | B ,r—'sﬂr,‘ A >o| C e Fan >.| B 3 ey |
K Mor il s B
§ 2022l o oi bt = cand i Tt

e U Set Tt L NI SRR W T (Subjective&Objactive) % 2 Ei, i

.= - - o 1 = o g . = "'-f"':!,_'-‘
=S ALY Y d SO S i er Mo Lﬂj__l:g LﬁUEfSIﬂHJZﬁJJ'JU'Fﬁ{ adlard = Lju; b L L

LF':Lr'| oLy

e T & ; : - s D £ g, % o m oo e
S e b | dbKeyi £ 4 ce b W E S o LAl O Key (MCQs) (%
"'P.i -5 H e ~ e . Fy _ﬁ o . T
""-":.'. LN i L,E r“-wn....ﬁf;". 1".:.1..|_- ._I;ZIL J:'M.':'._'". _.-./7-.’“[_?_" Fr e J\:,-r KEE,I' .;_;: Lray L-':‘ sl L-'I_a'r;llul-'ﬂ‘.'}"'-l ‘;“."'_,”L-.,’. L_rl.:"'"'
Prepared & Checked By: Dated:

S.# N_ame Designa!icn Instf?utiup Mobile No | Signature
1 [Ny A dmad  [3275 i g bl 0300490375y | Kilaer/
2 |ao Bacat Ao f’roﬁurwl Crovt . G &llepe khaneusd °331 63 455y ,g%,,...f
: : . p//,ﬂf__,
4
S

v bt Morse of 263/ 987
K hurrom SH%@ 0321434300 (.

Re-Checked By ___L,:u”éfu’r’dfq_df&{uﬂiwa:;;w-fxey"u"w(u‘; +LE0o L Gl 7
| |Haliy ¥ By ) HMJM Lt puiyuesty sa 0o T It |
‘ : |

i ¥kl




Paper Code www. ARG, colh Roll No: (@
Nitmibee: 4191 INTERMEDIATE PART-II (12" CLASS)

MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
GROUP-I OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of thai question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question, No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER,

'z

Q.No.1
.. sin78 1 _ o
1y  fim 5 (A) = B)1 (C) 7 Dy -7
(2)  The function f(x)=(x+2)"is:
(A) Even (B) Odd (C) Both even and odd (D) Neither even nor odd
3) ‘i‘tx*' ~2) = @A) a(x"'-2) B rx"' ©@-2)x""" O
@ I f(x)=— then fD)= (&) 1 ®-1  ©; O
® L= @2 @rm © A o) 2
dx R 2"
" 1 =1 =1
(6) —(sin™ jx) = w?==®——~wﬁi~®
dx 1'“—.1'2 1'1'1—.1[2 x’ |+ x°
i _ Lyt L4;;h4£ L2
(7) J'x1+9 (&) Jsin™ T (B) Stan X Jeos™ S (D) jeot ™S
8 e* i
& [==
(A) fn(e*—2)+¢ (B) in(e* -3 \ C) e =2+¢ D) e*
. g @
9 [cosxdr= & (B) - 1 (©) 2 Dy 1
0l
(10} J-.*f:"r{sec2 x -+ tanx) dx = e*sec’x  (B)e*seex (C) eftanx (D) e¥tan’x
(11)  The distance of the point (-1, 2) x —axis is: Al @el -2 @2
(12)  Slope of the line 3x =0 is: (A) % (B) '?3 (C) % (D) %
(13) Slope of y —axis (A) Zero (B) 1 (C) 2 (D) Undefined

(14) The distance g 2x = 3y 4+ 13 =0 [rom the point (0, () is:

13
Ay — piete
(A) 5 (B) 750 (C) 13 (D) 2
(15) (2, ley lution of inequality:
(A) 2x + 0 B) x—y>1 (C) 3x+5y<3 MD)y2x+y=26
(16) The radius of the circle (x = 5)*+ (y = 3)* =8 is
(A) 64 (®) 4 (©) 8 (@) V8
(17) An angle inscribed in a semi-circle is:
(A) 0 B) = © = (D) 27
(18) Equation of tangent to circle x* + 3% =a® at P(x, ) is:
(A} XX, 4+ Wy = az {B} XX, = Yy = (12 (E) i.—_- i {D) l: __J'l
1N 7 W
(19 i-j=
(A) 0 ®) i © j (D) &
(20) The projection of a vector b along vector a is:
b-a b-a o a
@ T ® Tg] © a-b ®) %

14(0bj)(¥8)-2022(2"-A)- /e (MULTAN)



Paper Code

I Nt.lmber:l 41 93

MATHEMATICS
GROUP-1

PAPER-II

mmﬂ‘ﬁ’mﬁ iﬁf&iﬁ% (12

Roll No:

(7
CLASS)

TIME ALLOWED: 30 Minutes
OBJECTIVE  MAXIMUM MARKS: 20

Note:

Q.No.1

(1)

(2)

(3

(4)

(3)

(6

(7
(8)
(9
(10)

(11)

(12)

(13)

(14)

(15)
(16)
(17)

(18)
(19)

(20)

You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No eredit will be awarded in case BUBBLES are not filled. Do not solve question on

this sheet of OBJECTIVE PAPER.

The radius of the circle (x - 5)* + (¥ - 3)* =8 is:
(A) 64 B) 4 (C) 8 (D) 8
An angle inseribed in a semi-circle is:
(A) 0 ®) % (©) # D) 27
Equation of tangent to circle x* + y* = o® at P(x, v) is:
A) m +yy=a> @)y =a (@=L ) —==%
W ;
i-j=
(A) 0 ®) i ©) J
The projection of a vector & along vector a is:
) - ( (c) d
4] al
fm S22 |
fim = “) 5 ? ©7 @ -7
The function f(x)=(x+2)° is;
(A} Even (B) Odd & and odd (D) Neither aven nor odd
2) Biax*"' ©n-2)x""" D) x
1
A] I (B)-1 (C) = (D) 2
2° In2
(A} x2*°1 B 22 (C D) ==
. J 2 (D) 57
I o | 1 -1
) —= (B)—— ) —— D)
\fl—x: y1-x° 1"I|l+I2 -|u|1+x2
1 . 1 % Sk 1 X 1 X g%
A)=sin " — (B)—-tan" — (C = — 1=
{)3 3 'LJE 3 () Cﬂhﬂ (D}30013
(A) dn{e*=2) +¢ (B) dn{e* -3)+ ¢ (Cye*-2+¢ (D) e*
T
[cosx dr = (A) € (B)—1 © 2 (D) 1
0
jel'(swl x+tanx)dv= (A) e“sec’x  (B) e"secx (C) e*tenx (D) e tan’x
The distance of the point (=1, 2) from x —exis is: (A1 (B)-1 (C)-2 (D)2
Slope of the line 3x =5y + 2 =0 is; (A) % (B) _T3 (C) 2 (D) £
8 5 2 3
Slope of v — axis is: (A) Zero (B) 1 {C) 2 (D) Undefined
The distance of the line 2x - 5}' + 13 =10 from the point (0, 0) is:
13
A 12 3 ’
(A) = (D) 29 (C) 15 (D) 2
(2, 1)isin the solution of mequality:
(A) 2x+ >0 B) x-—v>1 (C) 3x+5y<3 MH2x+yv=6
14(Obj) (XX 26)-2022(2"-A)- 2l (MULTAN)



" Paper Code WwWW.alzagEq Roll No: ‘EW

Nl 4195 INTERMEDIATE PART-II (12" CLASS)

MATHEMATICS PAPER-II

TIME ALLOWED: 30 Minutes

GROUP-1 OBJECTIVE  MAXIMUM MARKS: 20

Note:

().No.1
(1]

(2)

()
#

(7)

(8)

(9)

(10)

(16}

(17)

(18)

(15)

(20)

You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

The distance of the point (=1, 2) from x —axis is: {A) 1 B)—-1 {C)—=2 (BYy32
3 -3 3 b
Slopeof the ling 3x = 5y + 2 =0 is (A ; (B) == () 5 () 3
Slope of ¥ —axis is: (A) Zero (B) 1 e) 2 (D) Undefined

The distance of the line 2x — 5y + 13 =0 from the point (0, 0) is:

(A) = @ = © 13

5 === |

29 ¥29

(2, 1})isin the solution of inequality:

(A) 2x +y>0 B) x—y>1 (C) 3x+35y<]
The radius of the circle (x = 5)* +(y —=3)? =8 is:

(A} 64 (3) 4 (C) 3

An angle inscribed in a semi-circle is:

(A) 0 ® OF:

Equation of tangent to circle x* + 37 =a® at P(x, 3, i
2 B e
(A) xx; + vy, =a (B) xx, — yy, =a’ ) - (D) == =2
X g 41 o A

i-j=

£l ‘ - A
(A) 0 (B) i \ Ly 7 D) k

The projection of a vector b along ve
(A) E B cya-b D E

J ] (B) L— (©) (D) b

. 1

£ i =
ftim (A) 5 (B) 1 {€) 7 {D) -7
The function f x+2) is
(A} Even (C) Both even and cdd {D) Neither even nor odd
d
E{x (K) iz -2) @' © -0 D
If f(x)=%; then f'(-1)= (A) | (B)-1 (c]% (D) 2

X :

d oy . p 2 in2
—(2)= Ay 25 @2 B = D
- (A) x (B) 27 4n (”HE {}2,
d .3 i - . -
2 (sin™ k) = (it O i e DY
cbx N Jl = x* Jl+ x° J1+x?

X ) IR T - S [ -
jx2+9 = (A) 5sin IE (@) tn = (C) Joos lg (D) —cot I}
o -

e* =2
(A) n(e" = 2) + ¢ (B) ftn{e’ -3)+¢ (C)e*-2+¢ (D) ¢*
[eosx dv = (A) 0 (B)-1 (©) 2 (D) 1
[
Ie"{_se:z ¥+ tanx) dy = (A) e*see’x  (B) e"seex  (C)etanx (D) e"tan®

14{0b))( P P W)-2022(2"-A)2 foo  (MULTAN)
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Paper Code 1 WWW%E??*CRS“ Roll No: _ [ ?_f)

Rianbar: 4197 INTERMEDIATE PART-II (12" CLASS)
MATHEMATICS PAPER-TI TIME ALLOWED: 30 Minutes
GROUP-1 OBJECTIVE  MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you

Q.No.1
(1)

(2)

(3)

(4)

(3)
(&)

(7)

(8)
(2

(10)
an

(12)

(13)

(14)

(15)

(16)
(17)
(18)
(19)

(20)

think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling twe or more bubbles will result in zero mnrk. in that
question. No credit will be awarded in case BUBBLES are not filled, Do not solve question on

this sheet of OBJECTIVE PAPER.

: (B}—’]- (C)Tl___ﬁ (O s

d :
—(sin™ hx) = (A) ——— F e P
dx Jl_— T y1- x* Jl + x* V1t ¥
dx A 1.._1.1; 1 £ l -1 ¥ b il
le i () ysin™ 3 (B) Stan™ (€) ge0s™ 3 (D) —cot
[ -
et —2
(A) tn(e*-2)+¢ (B) ftn(e*=3) +¢ (Cle*—2+¢ )
T
[cosx dx = (A) 0 (B) -1 7 (D) 1
0
J'e‘{sccz y+tanx)de= (A) e"sec’x  (B) ¢" s x e“tanx (D) e tan’x
The distance of the peint (-1, 2) from x — axis is: (A) 1 -2 M2
2
Slope of the line 3x - 5y + 2 =0 is: (©) % D) 3
Slope of v —axis is: (A) Zer 2 (D) Undefined
The distance of the line 2x — 5y + 13 =0 %
13 13
Ry == B ¢ 2
(A) s (B) /2 (D)
( 2. 1) is in the solution of inequality®
(A) 2+ y >0 (B) = (M 2x+yz6
The radius of the circle (x — 5)7+ =3
(A) 64 ) 4 (D) 8
An angle inscribed in irele is
(A) 0 z © = D) 27
Equation of, ircle x* + y* =a®at Plx,y) is:
(A) xx B) m — oy =a® (@ =L o =22
Xy W X W
i-j=
(A) 0 (®B) i © J (D) k
The projection of a vector b along vector & is!
b-d b-a 5 a
ﬂ - e
(A) 3] (B) a] (C) (D} b
. sin78 1
f;fimﬂ 5 {(A) Z (B) 1 Q) 7 D) -7
The function f(x)=(x+2)" is:
(A) Even (B) Odd (C} Both even and odd (D) Neither even nor odd
%(ﬂ—z)= (A) n(x""1=2) @ az""' ©(r-2)x"""' (D)x"
If £ (x)=— then fi(=1)= (A) 1 ®-1  ©; O
3
d £ 2F in2
—(2%) = A) x2° B) 27 ¢n2 i D
29 (A) ¥ @22 © ;= O

L4(Ob) ) (Te T e TN)-20222"-A) Lloe  (MULTAN)



wwRRarfradidom Roll No: @
INTERMEDIATE PART-1I (12" CLASS)

MATHEMATICS PAPER-II TIME ALLOWED: 2,30 Hours
GROUP-I SUBJECTIVE MAXIMUM MARKS: 80

NOTE: Write same question number and its part number on answer hook,
as given in the question paper.

SECTION-I
2. Attempt any eight parts, §x2=16
(i) Define even function and give one example.
(i) I f(x)=2x+1thenfind f'(x)
Gi) Evaliate Fim —— =
x>0 5{]1 x

(iv) If f(x)=2x+ x -5 then find Left hand and Right hand limits of f(x) at x =1

3 &
(v)  Find Lim [I = }

x| x =1

; 2
1,"'; - L] then find l—f}—'
Wil dx

(vii) If S J"=3f2—213 ’rhcnfind% O

(viif) If y=a"" then find g

(vi) If p=

' If =—-Lth fdﬂ
(1x) ¥ o en fin &

() Find p.if yp=yz+-—
J
(xi)  Define mcreasing and decreasing fu

(xii)  Apply Maclaurin’s series exp

3. Attempt any eight part

(iv) FEva

Je+l=4x

(v)  Ewvaluate f(f-.-'r; +1)* dr x>0

(vi)  Ewvaluate J(l—_};)z d
X
dy

(vii)  Solve the differential equation Ex_ =—y

(viii)  Find the area bounded by cos function from x = — % to x= %
-

(ix) Find the mid point of the line segment joining the two points A(3,1); B(-2,-4)
(x) Find an equation of the vertical line through (-5, 3)
(xi) Convert 4x+ 7y — 2 =0 in normal form.
(xii)  Find the distance from the point P(6,—1) totheline 6x =4y +9=10
P.T.O.



www.arifrao.com

(2) e
4. Attempt any nine parts. O9x2=18

(i) What is a convex region?
(it} Graph the solution set of linear inequality in x y —plane, 3x + 7y =z 21
(iii)  Find the centre and radius of the circle 4x* + 4)° —8x +12y - 25=10

{iv) Determine whether the point P( -3, 6) lies cutside, on or inside the circle
X2+ pi4dx -6y -12=0

(v) Find the equation of tangent to the circle x* + y° = 25 at point (5cos@. 5sind)

(vi)  Find the focus and directrix of the parabola (x — 1) = 8(y + 2)

(vil)  Find the equation of the ellipse with vertex ( 0, 4 ), focus (0. -3) and centre (0, 0)

(viii)  Find vertices and eccentricity of hyperbola 25x% — 16y° = 400

y3. i

{(ix)}  Find a unit vector in the direction of v = re] = Ei

(x) Let y=3i-2j+2k w=5i—j+3k ﬁnd|33+y_v|
(xi)  Find areal numbher & sothat u=2wi-j—-k and y=i+ _ﬁ'@parpendiuular.
(xii) Ifu=2i{-j+k and y=4i+2j-k find yxu C

(xiii) Provethat u-(vxw)+v-{wxu)+w-|( gxg]@yﬁv_ﬂ
SECTIO.
NOTE: Attempt any three questions. & 3x10=30

S0 Finde dig =0 S
-0 ] - cosgx

(b) If y=1u'rtanx+1ul'tanx+ x’tanx@&., prove that {Zyul}g—:seczx

6.(a)  Show that J' a® - xidry in_'[ -

(b)  Find the family o hrough the point of intersection of the lines 3x — 4y — 10 =0 and

7. (a8)  Solve the differential equation 2e* tan ypdx (1—e") sec’ y dy =0
(b) Maximize f ( x, v)=2x + 5y subjectto the constraints 2y - x <8 x—-py<4 x20, yz0

8. (a) Find an equation of the line through the point( 2, —9 )and the intersection of the lines2x + 5y -8 =10
and Jx -4y =-6=10

(b) Show that the lines3x — 2y = 0and 2x + 3y — 13 = O are tangents to the circlex® + y* + 6x —dp =0

9.(a) Tind an equation of the tangent to the parabola 3* = —6x which is parallel to the line 2x + y + 1= 0.
Alzo find the point of tangency.
e T
sind sinf sinC

{b) Inany trangle ABC, prove that

14-2022(2°%-A)- 2 / pe (MULTAN)



NS RollNo: (0%

EtEd) com
INTERMEDIATE PART-IT (12" CLASS)
MATHEMATICS PAPER-II TIME ALLOWED: 2.30 Hours
GROUP-II SUBJECTIVE MAXIMUM MARKS: 80

NOTE: Write same question number and its part number on answer hoolk,

as given in the question paper.
SECTION-1
2. Attempt any eight parts. Bx2=16

(1) Define the term odd and even function.

(i1) Prove the identity cosh® x — sinh? x =1

Pl Y PG VIE ok

i34z ~4f3

{iv)  Find the domain and the range of function g(x) = /x +1

(v) Giventhat f(x)=x"-2x"+4x -1

(vi)  Find the derivative of —1,_— w.rt x

Jr+a
(vii) Find % if yP—xp—x"4+4=0 O
(viii) Dilferentiate wr.t, x cosyx + 1;';!1"; O
(ix) Find % it y=xcosy O P
(x)  Differentiate y =/ wrt, x
(x1)  Write Maclaurin Series Expansion. &@
(xii) Find y, if y=sin3x ¢ &
3. Attempt any eight parts. \ 8x2=16
(i) Use differentials to approximat of V17

()  Eveluate [sin®x dr

(iii)  Evaluate [

(iv)  Ewvaluate

(vi  Eval | —sinx + 2cosx] dx

(vi)  Evaluate jsecx (secx + tanx ) ¢x
0

7 3 : 1
(vii) Find the area between the x —axis and the curve y = cos—x from x=-x to x=o.
e

(viit) Solve the differential equation d_y o

xl
{ix)  Find the point three-fifth of the way along the line seement from A(—5. %) to B(5, 3).

(%) Find k. so that the line joining A(7, 3); B(k, —6) and the line joining C (-4, 5)and
D(—6, 4) are perpendicular.

(xi)  Find the point of intersection of the lines 3x - y+12=0and x+2y-1=0

(xii}  Find the lines represented by x4 Txy +2 J;-’- =
P.T.O.



www.arifrao.com

| /
4, Attempt any nine parts, G @ O9=x2=18
(1) Graph the solution set of inequality x +2y <6
(ii) What is feasible region?
(11}  Write an equation of circle with centre (-3, 5) and radius 7.
(iv) Write down equation of normal to circle x*+ y* =25 at (4,3).
(v) Describe the term Latusrectum of the parabola.
(vi)  Find the foci and eccentricity of the ellipse x* + 4y% = 16.

2 ¥
(vii)  Determine the vertices and centre of '?—ﬁ — % =1

(viii) Find an equation of the tangent line to yl =dar at (at’, 2ar)
(ix) If v=12i + 67, then finc unit vector in the direction of v.

(x) Determine a vector whose magnitude is 4 and is parallel to 2i =3/ + 6
(x1) Prave that in any triangle 4B b* =c*+ a*- 2eacos B Q
(xii)  Find a vector perpendicular to each of the vectors a = 2i + b @ i 41+ 2] - k

(xiil)  Show that the vectors i — Ei' + 3k, =2i+ 3; ~4pand i - k are coplanar.

) °
NOTE: Attemptany three questions. = 10 =30
ty o x)

S@ If Fx)= {les i x5l

dLSC‘U.hS- c

4x +1 if x>2

6.(a)

7. (a)

(h) Minimize z = 2x + y subject to the constraints x+ =3, Tx -5y <35 x20. yz0

8. (a) Tind the condition that the lines y — mx + ¢;, ¥ = myx + ¢; and ¥ = pyx -+ ¢5 arc concurrent,

(k)  Show that the circles x4+ yz +2x=2y-T7=10and %2+ }.-'2 — 6x + 4y + 9 =0 touch externally.

9.(a) Show that mid point of the hypotenuse of a right angle triangle is equidistant from its vertices.

(b}  Prove that latusrectum of the ellipse x_j + ;—_,_ S iy =
a a

16-20222nd - A)- 240 (MULTAN)
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il 4192 | INTERMEDIATE PART-II (12" CLASS) ¥
MATHEMATICS PAPER-I1 TIME ALLOWED: 30 Minutes
GROUP-II OBJECTIVE  MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question, No eredit will be awarded in case BUBBLES are not filled. Do not selve question on

this sheet of OBJECTIVE PAPER,

Q.No.1
1
1) e;mp[n%]" P We @B (©V O
X = [
(D)) B flix)= é F{x) isdiscontinuous at:
(A) x=0 (B) x=1 (€) x=-1 (D) x=-2
(3) I f(x)=cosx, then [ [%]:? (A) O (B)—1 (Cy 1 (D) _]i

(4) If f'(x)<0 then f(x):

(A) Increases (B) Decreases () Constant @p ential
d
(3) -&;fCGSEE} = (Aa) 1 (B) -1 0} 2 (D) O

. ) . I 1 |
B  Zrseniy=? (O e 15—l € ) — . (D)
de J-x? N xyl -« N
b
(7) foafx'=? 3 Q}Tu%bﬂ (CQa-b (D)b-a

(8) 2_[:-.in2xdx =97 (A) EQ (B) i o + ¢ (C) A (D) —cos2x + ¢

2 2
s d !
(9) Solution of Ey =sec’ x is: (A)y=tenx (B)y=secx (C)y=cosx (D)y=sinx

\ 4

(10) [sinx dx =2 (A)0 (B) 2 (C)-2 (D) 4
L]

(11} Distance of a . 0) from x+ y=1is: (A)0 (B) 1 .;C}l (D) 1L
2 V2
(12) Lines repregiited by ax” + 2hxy + by = 0 will be parallel:
(Aya+b=0 (B) h* + ab =0 (C) b —ab=0 (Ca-b=10
(13) Inclination of aline y =+3x+1 is: (A)30°  (B)60°  (C)45° (D) 135°

{14) Theline y = x + 1 passing through the point: (A, 1) (B)(L @y (T, 1)y (D) (=1,=1)

(15) Inequality x + 2y < 6 is satisfied by: A4, 1) (B)(lL 3y G 1D D, 4
(16) Diameter of a circle x° + yg =9 is: (A)3 (B) 4 (C) 5 (D)6
(17) Directrix of a parabola x*= —16y is: (A)y=—4 B)y=4 (C)x=4 (D)x=-4

(18) Centre ofacircle (x—1)*+(y+1)?=25is (A)(1, D B, 00 (O, -1) (D)(0,0H
(19) jxi=2 (A) k (B) i (C) O (D) —k
0 7. 2jxk=2 (A) 2 (B) 0 (C) -2 (D) 3

L6(ObI)(TX)-2022(2nd-A)- 2ja (MULTAN)
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Number: 4194 | INTERMEDIATE PART-II (12" CLASS)
MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
GROUP-II OBJECTIVE  MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
guestion. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

.No.1
(1) 2[sin2rdr=? Wy @mPE e @22 oy-seavee
(2)  Solution of % =sec’ x is: (A)y=tanx (B)y=secx (Cly=cosx (D)y=3sinx
(3) [sinxax=2 (A)0 (B) 2 (€) -2 (D) 4

(4) Distance of apoint (0, 0} from x+ y=1is (A) O (B 1 (C) l

(5) Lines represented by ax*+ 2hxy + by* = 0 will be parallel:
(A)a+b=0 (B) h*+ ab=10 (C) h*—ab=0 bh=0

(6) Inclinationofaline y=+3x+1 is: (A) 307 Q (C) 45° (D) 1357
(7)  Theline y = x + | passing through the point: (A) (0, Q]ﬂ 0 (©d, 1} Dy-l-D
(8)  Inequality x + 2y <6 is satisfied by: (4 B)y(1, 3) (C)(3, 1) (D)1, 4

{9) Diameter of a circle x*+ y* = m (B) 4 (C)5 (D)6
i o
(10)  Directrix of a parabola x*= - 16y is: \ A)y=-4 Biy=4 (O)ax=4 DH)x=-

(11) Centre of acircle (x - 1%+ (y (A) (1, (B)(L, ) (©Q, -1 D@0
(12) jxi=9 %’ (A) k (B) i (C) O (D) - &

(13) .27 x ) 4 (A) 2 (B) 0 (C) =2 (D) 3
(14) fii”n[ @A) e ® - @V oe"
{15} If° fix) (x) is discontinuous at:
(A) x =10 (B) x =1 (0 ¥==1 M) x=-2
(16) If f(x)=cosx, then f\\ j;? (A) 0 (B) -1 (C) 1 (D) —;-
(17) It f'(x)<0 then f(x):
(A) Increases (B) Decreases (C) Constant (D) Exponential
(18) %(mszm =7 (A) 1 (B) —1 (C) 2 (D) 0
d _ : o 1 c | el 1
(19 —(sech'x) =2 A e () — ol = MDb=rct=—r
dx ~Jl =yt ,1\,1',13 =1 x+1 - x* Xyl — x°
b
20)  2fxde=? (A2 -a* Bya*-t (Cla-b (D)b-a

16(0bj)(PeTe)-2022(2nd-A)- 2400 (MULTAN)
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Number: 4 l 96

MATHEMATICS PAPER-II
GROUP-11

wwanarifrae.oom
INTERMEDIATE PART-11 (12" CLASS)

Roll No: _/Eé

TIME ALLOWED: 30 Minutes

OBJECTIVE  MAXIMUM MARKS: 20

Note: You have four choices for each objeetive type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles, Cutting or filling two or more buhbles will result in zero mark in that
question, No credit will be awarded in case BUBBLES are nol filled. Do not solve question on

this sheet of OBJECTIVE PAPER.
Q.Nn.1

() fé—{cus?#} =9 (A) 1 ®) -1 (©) 2 (D) 0
d . & I 1 1 = -1 . id
2 —(sech™'x) =7 A) (DY —=== C€) —— (D)
i il v s = e
b
@ 2fxax=? (A)b:-a? (Bya®—8 (©a-b (D)b-a
@ 2fsin2xdx=? (A) ““‘f" +¢  (B) Si“f*‘ we | 0= DY —cos2x + ¢
(3)  Solution uf‘% =sec’ x is: (A)y=tanx (B)y= =cosx (D)y=sinx
6 inx cx =7 A)O B) 2 (C)-2 (D 4
(6) ! sinx (A) ®) ;
(7) Distance of apoint (0, 0) from x+ p=1is: ( | (C) % (D) :}5
(8) Lines represented by ax® + 2kxy + by’ = @ willlge llel:
(A) a+b=0 (B}hﬂm{ (C) h:—ab =0 () a-h=0
(9) Inclination of a line ¥ = JIx 1 (A) 307 (B) 60° (C) 45° (D) 135°
(10) The line y = x + 1 passing thégugh t int: (A)(0, D (B)(l,»H (O, 1) (D11
L 4
(11) Inequality x+ 2y <6 is by (A)4, 1) (Bi(L. 3) (OG 1) (D)1, 4)
(12} Diameter of a cirel =0 is: (A)3 (B)4 (C) 5 (D) 6
(13) Directrix of a x*=—16y is: (A y=-4 (B)py=4 () x=4 O)x=-4
(14} Centre (x =1+ (p+D*=25is: (A1, 1) B, 0 (O, -1) (D)(,0)
(15) jxi=% (A) k (B) i )0 (D) -k

(16) i.2jxk=2
I
(17) fﬂnﬂ[l +%] =9
(18} I f(x):l, S (x) isdiscontinuous at:
X

(A) x =10 (B) x =1

+f ]z?

(19) If f{x)=cosx, then f \
(B) Decreases

b | 3

20y I f(x)<0 then f(x):

(A) Increases

(A) 2 (B) 0 (C) <2 (D) 3

(A) e (B) é ©) Ve (D) &
(O il (D) x=-2

(A) 0 (B)-1 © 1 (D) 51;
(C) Constant (D) Exponential

16(0bj)( T 7)-2022(2nd-A)- 24 ¢ (MULTAN)



Paper Code WWW R IfRCOM Roll No: @
Number: 4198 INTERMEDIATE PART-II (12 CLASS)

MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
GROUP-1I OBJECTIVE MAXIMUM MARKS: 20
Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correet, fill that bubble in front of that question number, on bubble sheet, Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.
Q.No.1
(1) Diameter of acircle %+ p? =9 is: (A)3 (B) 4 (C) 3 (D) 6
(2) Directrix of a parabola x* =16y is: (A) y=-4 B)y=4 (O)x=4 ([D)x=-4
(3) Centreofacircdle (x -1+ (y+1)"=251s: (A1, 1) (B)(1, 0) (C)(1, =) (D)0, 0)
@ jxi=? Wk ®i ©0 -k
(§) i 2jxk=? w2 @0  (© (D) 3
A
; X = o 3 ] g . .‘II:':
(6) fim [ l+=| =7 (A) e (B} - Ve (D) e
x— 0 ) y Fed O
s f'(x):l, F(x) isdiscontinuous at: Q
*
(A) x =10 (Bl x=1 O (D) x==2
A7) 1
8) If f(x)=cosx, then /' ( % (C) 1 (D) =
(9 I F'(x)<0then f(x):
(A) Increases (B) Decrease \ ) Constant (D} Exponential
d
(10) I{mﬂx} =7 @ (A1 (B —1 a2 (D} O
¥
(11) i{sec hx) =9 @) 3 = S (C) W (D) o
elx J1 =% xvrx -1 xyl —x° xy/1 = x?
kel
(12) ;:jr dr =7 (A)b2 -a® (Bia*-b* (Cla-b ((D)h-a
(13 2fs (Al "—“‘-“?5'5 RO ?1%-2-"‘- +e (D) :ﬂ?f (D) - cos2x + ¢
(14)  Solution of ;ﬂ =sec’ & is: (Aly=tanx (B)y=secx (C)ly=cosx (D)y=sinx
e
(15) j’sinx die =1 S(A)Y 0 (R} 2 ()2 (M) 4
0
(16) Distanceofapoint(0, 0) from x+ y=1 is: (A0 (B) 1 () é () —
(17) Lines represented by wx” + Zhxy + by = 0 will be parallel;
(Ala+b=0 (B) '+ ab=0 (C)h*—ab=0 Cla-56=0
(18) Inclination ol aline y = ».EJI: + 1 is; {A) 307 (B) 607 (C) 45" (D) 135°
{(19) Theline y = x + | passing through the point: (A)(0, 1) (BII, 0O 0,1 (D1,-1)
(20) Inequality x + 2y < 0 is satisfied by: (Ar4, 1y (BY(1, 3) (C)(3, 1) (D)(l,4)

16(0b))( T Do Pr e )-2022(20d-A)- 2o (MULTAN)
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